
Xiamen Wabco Industrial Co.,Ltd

Truck & Trailer Parts 

        

 

厦 门 伟 铂 实 业 有 限公 司
Xiamen Wabco Industrial Co.,Ltd.,
Website：www.wabco.cn       www. xmwabco.com

E-mail:  wabco@wabco.cn                info@wabco,cn 

Tel：0086-592-5612198

Add：NO.79,XiLin,Xili,Siming District,Xiamen,China

厦 门 伟 铂 实 业 有 限公 司

创 新      品 质   

             服 务信 誉         

INNOVATION             QUALITY

     CREDIT                      SERVICE



A TYPE       WB NO.:             

120.7      

120.7      

120.7      

120.7      

120.7      

STROKE B C M 

yourself       

yourself       

yourself       

yourself       

yourself       

yourself       

L  REF NO. 

120.7      

03 04

WB-1101A 64       

64       

64       

64       

64       

64       

5/8 -11       "

5/8 -11       "

5/8 -11       "

5/8 -11       "

5/8 -11       "

5/8 -11       "

5/8"-18       

5/8"-18       

5/8"-18       

5/8"-18       

5/8"-18       

5/8"-18       

Z-3/8       

Z-3/8       

Z-3/8       

Z-3/8       

Z-3/8       

Z-3/8       

T3030DD

T2430DD

T1624DD

T2024DD

T2024DD

T2424DD

WB-1101B

WB-1101C

WB-1101D

WB-1101E

WB-1101F

Spring Brake Chamber

A: Bolt Center

B: Bolt Thread

C: Push Rod Thread

M: Port Thread

L: Push Rod Length

 

A: Bolt Center

B: Bolt Thread

C: Push Rod Thread

M: Port Thread

L: Push Rod Length 

64       

64       

64       

64       

64       

T3030DD

T2430DD

T1624DD

T2024DD

T2424DD

120.7      

120.7      

120.7      

120.7      

yourself       

yourself       

yourself       

yourself       

yourself       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       120.7      

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5;        Z-3/8      

M16×1.5;        Z-3/8      

M16×1.5;        Z-3/8      

M16×1.5;        Z-3/8      

M16×1.5;        Z-3/8      

A TYPE       WB NO.:             STROKE B C M L  REF NO. 
WB-1102A

WB-1102B

WB-1102C

WB-1102D

WB-1102E

PRODUCT INDEX
01

02

03

05

04

06

07

08

09

10

11

12

13

14

16

CLUTCH BOOSTER

SLACK ADJUSTER

BRAKE CHAMBER

15

17

18

P04-11

P12-15

P16-20

P21-23

P24-24

P25-30

P31-34

P35-37

P38-38

P39-40

P41-48

P49-49

P50-56

P57-58

P61-61

P59-59

P62-64

QUICK COUPLING

GLAND HEAD

AIR DRYER

UNLOADER VALVE

FOOT BRAKE VALVE

4 CIRCUIT PRO. VALVE

RELAY  VALVE

LEVELING VALVE

CONTROL VALVE

TRAILER  CONTROL VALVE

HAND BRAKE VALVE

PLUGS  AND  SOCKETS

HUB COVER

CABLE AND PLUG ASSEMBLY

AIR  COILS  ASSEMBLY

P60-60

TRUCK & TRAILER PARTS

www wabco cn            www.xmwabco.com. . . www wabco cn              www.xmwabco.cn. . .

Xiamen Wabco Industrial Co.,Ltd



Spring Brake Chamber

5/8 -11       "

M16×1.5       

5/8 -11       "

5/8 -11       "

5/8 -11       "

5/8"-18       

5/8"-18       

5/8"-18       

5/8"-18       

Z-3/8       

Z-3/8       

Z-3/8       

Z-3/8       

Z-3/8       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

Sealed

120.7      

120.7      

120.7      

76

76

64       

64       

76

64       

76

64       

T3030DDL

T3030DDL

T2430DDL

T2430DD

T2430DDL

T2430DD

T3030DD

T3030DD

120.7      

120.7      

120.7      

120.7      

120.7      Z-3/8       

yourself       

yourself       

yourself       

yourself       

yourself       

yourself       

yourself       

yourself       

A TYPE       WB NO.:             STROKE B C M L  REF NO. 

120.7      

120.7      

120.7      

120.7      

64       

64       

64       

64       

57      

T3030DD

T2430DD

T1624DD

T2024DD

T2424DD

15

120.7      

15

15

15

15

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       925 384 001 0

A TYPE       WB NO.:             STROKE B C M L  REF NO. 

A: Bolt Center

B: Bolt Thread

C: Push Rod Thread

M: Port Thread

L: Push Rod Length 

A: Bolt Center

B: Bolt Thread

C: Push Rod Thread

M: Port Thread

L: Push Rod Length 

WB-1103A

WB-1103B

WB-1103C

WB-1103D

WB-1103E

WB-1103F

WB-1104A

WB-1104B

WB-1104C

WB-1104D

WB-1104E

WB-1103G

WB-1103H

A: Bolt Center

B: Bolt Thread

C: Push Rod Thread

M: Port Thread

L: Push Rod Length

 
A TYPE       WB NO.:             

WB-1201A 120.7      

120.7      

120.7      

120.7      

120.7      

STROKE

64       

64       

64       

64       

57     

B C M 

T3030DP

T3024DP

T1624DP

T2024DP

T2424DP

T2430DP

yourself       

yourself       

yourself       

yourself       

yourself       

yourself       

L  REF NO. 

Spring Brake Chamber

A: Bolt Center

B: Bolt Thread

C: Push Rod Thread

M: Port Thread

L: Push Rod Length 

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

925 324 000 0

925 320 159 0

925 321 400 0

925 422 603 0

925 322 076 0

925 431 100 0

A TYPE       WB NO.:             

120.7      

120.7      

120.7      

120.7      

STROKE

64       

64       

64       

64       

57       

B C M 

T3030DP

T1624DP

T2024DP

T2424DP

T2430DP

L  REF NO. 
M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

BS9304

BS9504

BS9404

120.7      

120.7      

15

15

15

15

15

64       WB-1201E

WB-1201F

WB-1201D

WB-1201C

WB-1201B

WB-1202A

WB-1202E

WB-1202D

WB-1202C

WB-1202B

05 06www wabco cn            www.xmwabco.cn. . . . www wabco cn              www.xmwabco.cn. . . .

TRUCK & TRAILER PARTSXiamen Wabco Industrial Co.,Ltd



Spring Brake Chamber

A TYPE       WB NO.:             

120.7      

120.7      

120.7      

120.7      

STROKE

65      

65       

65      

65       

57      

B C M 

T3030DP

T1624DP

T2024DP

T2424DP

T2430DP

L  REF NO. 
M16×1.5       M16×1.5       

M16×1.5       M16×1.5       

M16×1.5       M16×1.5       

M16×1.5       M16×1.5       

M16×1.5       M16×1.5       

M22×1.5 VOSS       

925 494 960 0

925 491 141 0

925 491 143 0

925 492 102 0

925 490 102 0

120.7      

250      

250      

250      

250      

250      

M22×1.5 VOSS       

M22×1.5 VOSS       

M22×1.5 VOSS       

M22×1.5 VOSS       

A TYPE       WB NO.:             

120.7      

120.7      

120.7      

120.7      

STROKE

65      

65       

65      

65       

57      

B C M 

T3030DP

T1624DP

T2024DP

T2424DP

T2430DP

L  REF NO. 
M16×1.5       M16×1.5       

M16×1.5       M16×1.5       

M16×1.5       M16×1.5       

M16×1.5       M16×1.5       

M16×1.5       M16×1.5       

M22×1.5 VOSS       

925 484 022 0

925 481 010 0

925 481 060 0

925 480 010 0

120.7      

15    

M22×1.5 VOSS       

M22×1.5 VOSS       

M22×1.5 VOSS       

M22×1.5 VOSS       

15    

15    

15    

15    

A: Bolt Center

B: Bolt Thread

C: Push Rod Thread

M: Port Thread

L: Push Rod Length 

A: Bolt Center

B: Bolt Thread

C: Push Rod Thread

M: Port Thread

L: Push Rod Length 

WB-1203A

WB-1203B

WB-1203E

WB-1203D

WB-1203C

WB-1204A

WB-1204B

WB-1204E

WB-1204D

WB-1204C

A: Bolt Center

B: Bolt Thread

C: Push Rod Thread

M: Port Thread

L: Push Rod Length 

A TYPE       WB NO.:             STROKE B C M 

T12

T16

T12/6200

T9/6200

L  REF NO. 

Spring Brake Chamber

A: Bolt Center    B: Bolt Thread C: Push Rod Thread

M: Port Thread    L: Push Rod Length 

    

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

A TYPE       WB NO.:             

120.7      

120.7      

120.7      

120.7      

STROKE

64       

57       

64       

64       

45      

B C M 

T3024DP

T2430DD

T3030DP

T3030DD

T2020DP

L  REF NO. 
M16×1.5       

4-M16×1.5       

2-M16×1.5       

M16×1.5       

M14×1.5       

M16×1.5       

M18×1.5       

M14×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

120.7      

110mm      

110mm     

3/8"NPT

3/8"NPT

390mm

375mm

120.7      64       T2424DP M16×1.5       M14×1.5       M16×1.5       110mm      

DT1206A DT1206B DT1206C DT1206D DT1206E

Spring Brake Chamber

WB-1205A

WB-1205D

WB-1205C

WB-1205B

WB-1206A

WB-1206B

WB-1206C

WB-1206D

WB-1206E

07 08www wabco cn   www.xmwabco.cn. . . . www wabco cn www.xmwabco.cn. . . .

TRUCK & TRAILER PARTSXiamen Wabco Industrial Co.,Ltd



Brake Chamber

5/8 -11       "

M16×1.5       

5/8 -11       "

5/8 -11       "

7/16"-20

5/8"-18       Z-3/8       

Z-3/8       

Z-3/8       

Z-3/8       

Z-3/8       

Z-3/8       

Z-3/8       

M16×1.5       

M16×1.5       

M16×1.5       

M12×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

A: Bolt Center

B: Bolt Thread

C: Push Rod Thread

M: Port Thread

L: Push Rod Length 

WB-1301A 120.7      

120.7      

120.7      

64       

64       

64       

57

64       

64       

45     

120.7      

120.7      

120.7      

120.7      

76

76

120.7      

76

76

Z-3/8       

Z-3/8       

yourself       

yourself       

yourself       

yourself       

yourself       

yourself       

yourself       

yourself       

yourself       

yourself       

yourself       

yourself       

A TYPE       WB NO.:             STROKE B C M L  REF NO. 

A: Bolt Center

B: Bolt Thread

C: Push Rod Thread

M: Port Thread

L: Push Rod Length 

120.7      

120.7      

120.7      

120.7      

76

76

76

75

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

A TYPE       WB NO.:             STROKE B C M L  REF NO. 

T30-A

T30-B

T30-C

T24-A

T24-B

T24-C

T20-A

T20-B

T16-A

T16-B

T12

T9

64       

64       

57

57

57

M16×1.5       

7/16"-20

7/16"-20

5/8 -11       "

M16×1.5       

5/8 -11       "

1/2"-20

1/2"-20

1/2"-20

1/2"-20

M16×1.5       

T30L

T30L

T24L

T20L

Z-3/8       

yourself       

yourself       

yourself       

yourself       

WB-1301B

WB-1301D

WB-1301H

WB-1301G

WB-1301E

WB-1301C

WB-1301K

WB-1301J

WB-1301F

WB-1301L

WB-1301M

WB-1302A

WB-1302B

WB-1302C

WB-1302D

A: Bolt Center    B: Bolt Thread C: Push Rod Thread

M: Port Thread    L: Push Rod Length 

    

A TYPE       DT NO.:             

120.7      

120.7      

120.7      

120.7      

STROKE

64       

57       

76      

64       

B C M 

T3030DD

T3030DD

T2424DD

L  

120.7      

120.7      64       T3024DD

WB1207A WB1207B WB1207C WB1207D WB1207E

Spring Brake Chamber

WB-1207A

WB-1207B

WB-1207C

WB-1207D

WB-1207E

         5/8"-11UNC

         5/8"-11UNC

         5/8"-11UNC

         5/8"-11UNC

         5/8"-18UNF          3/8"NPT

         5/8"-18UNF          3/8"NPT

         5/8"-18UNF          3/8"NPT

         5/8"-18UNF          3/8"NPT

55/188/255/290mm

180/270mm

100/206/245mm

188/255/290mm

T3030DDL-P

T3030DD-P

76      

         3/8"NPT

         3/8"NPT

Brake Chamber

5/8 -11       "

5/8 -11       "

5/8 -11       "

7/16"-20

5/8"-18       Z-3/8       

Z-3/8       

Z-3/8       

Z-3/8       

Z-3/8       

A: Bolt Center

B: Bolt Thread

C: Push Rod Thread

M: Port Thread

L: Push Rod Length 

WB-1300A 120.7      

64       

64       

57

45     

120.7      

120.7      

76

76

76 Z-3/8       

yourself       

yourself       

yourself       

yourself       

yourself       

yourself       

A TYPE       WB NO.:             STROKE B C M L  REF NO. 
T30

T24

T20

T16

T12

T9

64       

57 7/16"-20

7/16"-20

5/8 -11       "

5/8 -11       "

1/2"-20

1/2"-20

1/2"-20

WB-1300B

WB-1300D

WB-1300E

WB-1300C

WB-1300F

09 10   www wabco cn www.xmwabco.cn. . . . www wabco cn          www.xmwabco.cn. . . .

TRUCK & TRAILER PARTSXiamen Wabco Industrial Co.,Ltd



Brake Chamber

M16×1.5       

5/8"-18       Z-3/8       

Z-3/8       

Z-3/8       

Z-3/8       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

A: Bolt Center

B: Bolt Thread

C: Push Rod Thread

M: Port Thread

L: Push Rod Length 

120.7      

120.7      

120.7      

64       

64       

57

57

57 120.7      

120.7      

120.7      

120.7      

yourself       

yourself       

yourself       

yourself       

yourself       

yourself       

yourself       

A TYPE       WB NO.:             STROKE B C M L  REF NO. 

A: Bolt Center

B: Bolt Thread

C: Push Rod Thread

M: Port Thread

L: Push Rod Length 

120.7      

120.7      

120.7      

120.7      

64

64

64

64

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

A TYPE       WB NO.:             STROKE B C M L  REF NO. 

T30-A

T30-B

T24-A

T24-B

T20-A

T20-B

T16-A

64       

64       

M16×1.5       5/8 -18      "

M16×1.5       

5/8 -18    "

T30

T16

T24

T20

Z-3/8       

15

15

15

15

M16×1.5       

M16×1.5       

M16×1.5       

M16×1.5       

5/8 -18      "

Diaphragm

MODEL A B C D E F G

T9-45

T9-50

T12-45

T12-50

T14-57

T14-64

T16-57

T16-64

T16-76

T20-57

T20-64

T20-76

T24-64

T24-76

T24-64

T30-64

T30-76

T36-76

127.5

127.5

139

136

146

148

157

158

160

168

168

169

180

177

199

199

200

224

61.2

68

79

79

82

80.5

95

90

93.5

102

102

94.5

109

103

110

125

126

205

110

112

120

125

127

134

136

140

135

147

150

151.6

158

160

170

182.5

183

158

30

32

35

36

34

48

40

41

47

36

44

50

42

52

40

40

50

44

8.1

8.5

8.5

8.5

8.5

8.2

8.5

8

9.6

8.3

8.5

8.3

8.3

8

9.5

9.4

9.5

8.6

3

3.5

3.2

3.5

3.5

3.5

3.5

3

3

3.4

3.2

3

3

3

3

3.5

3.2

3

30

35

24

23

23

20

15

16.5

33

23

22

15

16.5

21

30

23

36

16

Brake Chamber Parts

SPRING YORK MID BODYSTAMPING

WB-1304A

WB-1304B

WB-1304C

WB-1304D

WB-1303A

WB-1303B

WB-1303C

WB-1303D

WB-1303E

WB-1303F

WB-1303G

11 www.wabco.cn www.wabco.cn www.xmwabco.comwww.xmwabco.com 12

TRUCK & TRAILER PARTSXiamen Wabco Industrial Co.,Ltd



WB-2301

346 420 173 8

WB NO.

PORTS

WB-2302WB NO.

PORTS

SLACK ADJUSTER SLACK ADJUSTER

WB-2303WB NO.

PORTS

WB-2304WB NO.

PORTS

SLACK ADJUSTER SLACK ADJUSTER

WB-2305

305 420 003 8

WB NO.

PORTS

SLACK ADJUSTER

WB-2307

288540

WB NO.

PORTS

SLACK ADJUSTER

WB-2309

5511-3502136

WB NO.

PORTS

SLACK ADJUSTER

Teeth No: 26

Arm Length: 145

Bushing: 14

Teeth No: 26

Arm Length: 145

Bushing: 14

346 420 183 8

346 420 183 8

Teeth No: 26

Arm Length: 145

Bushing: 14

Teeth No: 26

Arm Length: 145

Bushing: 14

346 420 173 8

Teeth No: 19

Arm Length: 138

Bushing: 14

Teeth No: 10

Arm Length: 141.6,166.5

Bushing: 14

Teeth No: 10

Arm Length: 150

Bushing: 12.7

WB-2306

288539

WB NO.

PORTS

SLACK ADJUSTER

Teeth No: 10

Arm Length: 141.6,166.5

Bushing: 14

WB-2308

 5511-3502237

WB NO.

PORTS

SLACK ADJUSTER

Teeth No: 10

Arm Length: 150

Bushing: 12.7

WB NO.: Midland Bendix Spline Teeth
Arm  Length

WB-2201

WB-2202

WB-2203

WB-2204

WB-2205

WB-2206

WB-2207

WB-2208

WB-2209

WB-2210

WB-2211

WB-2212

WB-2213

WB-2214

WB-2215

WB-2216

KN51000

KN55001

KN51010

KN44041

KN47011

KN49000

KN48031

KN47002

KN48001

KN47081

KN44051

KN44061

KN47001

KN48002

KN44071

KN44042

1-1/2

1-1/4

1-1/2

1-3/5

1-1/2

1-1/4

1-1/4

1-1/2

1-1/4

1-1/2

1-1/2

1-1/2

1-1/2

1-1/4

1-1/2

1-3/5

10

24

28

37

10

10

10

10

10

10

28

28

10

10

28

37

---

---

---

283411

278321

278294

278302

279316

278303

278312

286965

288753

278323

278305

288282

---

- -

--

--

--

5 1/2

4 1/2

4 1/2

4 1/2

5

5

5

5 1/2

6

6

6

6

6

5 1/2

6

6

6 1/2

5 1/2

5 1/2 

5 1/2 

6

6

6

6 1/2

7

7

7

7

A B C

WB NO :. Original Spline
A B C FED G

1-1/2-100517454700

0517452610

0517465220

0517465130

1-1/2-10

1-1/2-10

1-1/2-10

WB-2101

WB-2102

WB-2103

WB-2104

120 150 180 250

120 150 180 250220

120 135 180 250

120 135 150 250165

150 165

195180

Slack Adjusters

Arm  Length

--

--

--

--

--

--

--

--

--

--

--

5

5

5

5

--

WB-2310WB NO.

PORTS

SLACK ADJUSTER

5320-35202136

Teeth No: 10

Arm Length: 125

Bushing: 12.7

14

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

13 www.wabco.cn www.xmwabco.com. . . . www.wabco.cn www.xmwabco.com. . . .

TRUCK & TRAILER PARTSXiamen Wabco Industrial Co.,Ltd



WB-3102

 432 410 104 0

WB NO.

NOTE

Cut-off Pressure: 8.1Bra

Ports: 1+21=M22x1.5;

Port 22: M12x1.5

Comment: With Silencer

AIR  DRYER 

WB-3104

432 420 003 0

DT NO.

NOTE

AIR  DRYER 

WB-3106

432 410 115 0

WB NO.

NOTE

AIR  DRYER 

WB-3108

932 500 035 0

WB NO.

NOTE

Cut-off Pressure: 8.5Bra

Safety: 21,22,24=6.9Bra

            23=7.9Bra

Port 1: M 22x1.5

Port 21,22,23,24: M 22x1.5

AIR  DRYER 

WB-3110

932 500 007 0

WB NO.

NOTE

Port 11: M22x1.5

Port 12: M12x1.5

Port 22: M16x1.5

Open Pressure Ports 

23-28: (720-750)Kpa

AIR  DRYER 

WB-3103

432 420 000 0

WB NO.

NOTE

AIR  DRYER 

WB-3105

432 410 113 0

WB NO.

NOTE

Cut-off pressure: 12.5Bra

Ports 1: M22x1.5;

Ports 21: M22x1.5 VOSS

Port 22: M16x1.5 VOSS

AIR  DRYER 

WB-3107

432 410 117 0

WB NO.

NOTE

AIR  DRYER 

WB-3109

932 500 003 0

WB NO.

NOTE
Cut-off pressure: 10Bra

Safety: 14.5+2.5Bra

            

AIR  DRYER 

WB-2312

1448113

WB NO.

PORTS

SLACK ADJUSTER

Teeth No: 10

Arm Length: 165

Bushing: 16

WB-2313

1448114

WB NO.

PORTS

WB-2314

1448115

WB NO.

PORTS

SLACK ADJUSTER SLACK ADJUSTER

Teeth No: 10

Arm Length: 165

Bushing: 16

Teeth No: 10

Arm Length: 165

Bushing: 16

WB-2311WB NO.

PORTS

SLACK ADJUSTER

Teeth No: 10

Arm Length: 125

Bushing: 12.7

5320-35202237

WB-2315WB NO.

PORTS

SLACK ADJUSTER

1448120

Teeth No: 10

Arm Length: 165

Bushing: 16

WB-2317WB NO.

PORTS

SLACK ADJUSTER

257342110157

Teeth No: 24

Arm Length: 140

Bushing: 12.7

WB-2319WB NO.

PORTS

SLACK ADJUSTER

257342110177

Teeth No: 24

Arm Length: 140

Bushing: 12.7

WB-2316WB NO.

PORTS

SLACK ADJUSTER

1448121

Teeth No: 10

Arm Length: 165

Bushing: 16

WB-2318WB NO.

PORTS

SLACK ADJUSTER

257342110178

Teeth No: 24

Arm Length: 140

Bushing: 12.7

WB-2320WB NO.

PORTS

SLACK ADJUSTER

F8366000

Teeth No: 10

Arm Length: 160

Bushing: 12.7

WB-3101

432 410 102 0

WB NO.

NOTE

Cut-off Pressure: 8.1Bra

Ports: 1+21=M22x1.5;

Port 22: M12x1.5

Comment: Without Muffler

AIR  DRYER 

Heat: 24V

Ports: 1+21=M22x1.5

Ports: 22+4=M12x1.5

Heat: 12V

Ports: 1+21=M22x1.5

Ports: 22+4=M12x1.5

Cut-off pressure: 8.5Bra

Ports 1: M22x1.5;

Ports 21: M22x1.5 VOSS

Port 22: M16x1.5 VOSS

Cut-off pressure: 10Bra

Ports 1: M22x1.5;

Ports 21: M22x1.5 VOSS

Port 22: M16x1.5 VOSS

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

15 16www wabco cn          www.xmwabco.cn. . . . www wabco cn            www.xmwabco.cn. . . .

TRUCK & TRAILER PARTSXiamen Wabco Industrial Co.,Ltd



WB-3122

ZB4587

WB NO.

NOTE

AIR  DRYER 

WB-3124WB NO.

NOTE

AIR  DRYER 

WB-3126

ZB4805

WB NO.

NOTE

AIR  DRYER 

WB-3128

ZB4544

WB NO.

NOTE

AIR  DRYER 

WB-3130

LA8227

WB NO.

NOTE

WB-3123

065224

WB NO.

NOTE

AIR  DRYER 

WB-3125

432 431 191 0

WB NO.

NOTE

AIR  DRYER 

WB-3127

LA8116

WB NO.

NOTE

AIR  DRYER 

WB-3129

LA8016

WB NO.

NOTE

WB-3121

LA8125

WB NO.

NOTE

AIR  DRYER 

WB-3112

LA6210

WB NO.

NOTE

Cut-off pressure:  8.1Bra

Heat: 24V

Ports: 1+2=M22x1.5

Port 22: M12x1.5

AIR  DRYER 

WB-3114

432 425 101 0

WB NO.

NOTE

AIR  DRYER 

WB-3116

932 400 003 0

WB NO.

NOTE

Cut-off pressure: 10.0Bra

Ports: 1+21=M22x1.5

Port 4/23: M12x1.5  

With Plug

AIR  DRYER 

WB-3118

432 415 002 0

WB NO.

NOTE

Heat: 24V

Backflow: 0.7Bra

Ports: 1+21=1/2"NPT

Port 4: 1/4"NPT

AIR  DRYER 

WB-3120

78990

WB NO.

NOTE

AIR  DRYER 

WB-3113

432 410 081 0

WB NO.

NOTE

Cut-off pressure: 9.4Bra

Heat: 24V

Ports: 1+21=M22x1.5

Ports: 22+4=M12x1.5

AIR  DRYER 

WB-3115

932 400 002 0

WB NO.

NOTE

Cut-off pressure: 12.0Bra

Ports: 1+21=M22x1.5 VOSS

Port 22: M16x1.5 VOSS

AIR  DRYER 

WB-3117

432 413 001 0

WB NO.

NOTE

Heat: 12V

Backflow: 0.7Bra

Ports: 1+21=1/2"NPT

Port 4: 1/4"NPT

AIR  DRYER 

WB-3119

DR-31

WB NO.

NOTE

AIR  DRYER 

WB-3111

LA6200

WB NO.

NOTE

Cut-off pressure:  8.1Bra

Ports: 1+2=M22x1.5

Port 22: M12x1.5

AIR  DRYER 

Cut-off pressure: 12 Bra

Ports: 1+21=M22x1.5

Heat: 12V

Ports: SUP=1/2"NPT

Ports: DEL=1/2"NPT

Ports: CON=1/4"NPT

DC: 24V

Ports: 1+2=M22x1.5

Ports: 4+23=M12x1.5

Port 12: M22x1.5

Port 24: M22x1.5

Port 23: M16x1.5

Port 12: M22x1.5

Port 24: M22x1.5

Port 23: M16x1.5

Heat: 24V

Ports: SUP=3/4"NPT

Ports: DEL=3/4"NPT

Heat: 12V

Ports: SUP=1/2"NPT

Ports: DEL=1/2"NPT

065225

Heat : 24V

Port 1+21: M22x1.5

Port 4: M 16x1.5

Voltage: 24 V

Port 1: M22x1.5

Port 21: M22x1.5

Port 22: M12x1.5

Exhaust: Snap-on Contour

AIR  DRYER AIR  DRYER 

Cut-off pressure: 10Bra

Inlet Ports: M22x1.5

Del Ports: M22x1.5 

Cut-off pressure: 12.5Bra

Inlet Ports: M22x1.5

Del Ports: M22x1.5 

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

Cut-off Pressure: 10Bar

Inlet Port 12: M22x1.5

Cut-off Pressure: 10Bar

Comment: LA8116+AE4526

17 18www wabco cn          wwwxmwabco.cn. . . . www wabco cn          wwwxmwabco.cn. . . .

TRUCK & TRAILER PARTSXiamen Wabco Industrial Co.,Ltd



WB-3502WB NO.

NOTE

WB-3601

934 705 005 0

WB NO.

NOTE

WB-3501

894 260 049 2

WB NO.

NOTE

WB-3503

894 260 040 2

WB NO.

NOTE

WB-3602

934 705 002 0

WB NO.

NOTE

894 260 046 2

WB-3204WB NO.

NOTE

WB-3206

107794

WB NO.

NOTE

WB-3302WB NO.

NOTE

WB-3402

432 407 012 0

WB NO.

NOTE

WB-3205

432 410 220 0

WB NO.

NOTE

WB-3301

463 410 600 2

WB NO.

NOTE

WB-3401

432 407 060 0

WB NO.

NOTE

WB-3203WB NO.

NOTE

AIR DRYER CARTRIDGE AIR DRYER CARTRIDGE 

AIR DRYER CARTRIDGE AIR DRYER CARTRIDGE 

432 410 226 2

Specification: RP 1-1/4

Comment: 13Bra

Specification: M41x1.5 Specification: 5/8-11UNC

1381813

AIR DRYER SEAT AIR DRYER SEAT 

Heat: 24V

Conn: M27x1

Ports: 1+21=M22x1.5

Port 22: M12x1.5

Ports: 11,21-24=M22x1.5

Port22: M16x1.5

Cut-off Pressure: 10Bar

Open Press 21,22: 6.0Bar

Open Press 23-26: 7.0Bar

AIR DRYER SILENCER AIR DRYER SILENCER

Pressure: 13Bar  

Diameter: 68mm

Pressure: 13Bar

Maxi. Pressure: 18.5Bar

WB-3404

432 407 018 0

WB NO.

NOTE

WB-3403

432 407 070 0

WB NO.

NOTE

AIR DRYER SILENCER AIR DRYER SILENCER

Pressure: 11Bar

Diameter: 69mm

WB-3202

432 410 220 2

WB NO.

NOTE

WB-3201

432 410 020 2

WB NO.

NOTE
Comment: (12-14)Bra

Specification: M39x1.5

Comment: 13Bra

Specification: M42x1.5

AIR DRYER CARTRIDGE AIR DRYER CARTRIDGE 

AIR DRYER KITS AIR DRYER KITS

AIR DRYER KITS

Specification: 24 VOLT-100WATT

Specification: 24 VOLT-100WATT

Specification: 12 VOLT-100WATT

MULTI CIRCUIT PROTECTION VALVE

Ports:  Port1 Flange

Ports Main Feeds M22 VOSS

Open 1,2: 6.0Bar

Open 3,2: 7.0Bar

MULTI CIRCUIT PROTECTION VALVE

Ports:  Port1 Flange

Ports Main Feeds M22 VOSS

Open 1,2: 9.0Bar

Open 3,4: 7.5Bar

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

19 20www wabco cn          www.xmwabco.cn. . . . www wabco cn          www.xmwabco.cn. . . .

TRUCK & TRAILER PARTSXiamen Wabco Industrial Co.,Ltd



WB-4104WB NO.

WB-4106

934 714 740 0

WB NO.

WB-4108WB NO.

WB-4110

934 714 403 0

WB NO.

WB-4105

AE 4605

WB NO.

WB-4107

934 702 250 0

WB NO.

WB-4109

934 702 210 0

WB NO.

WB-4103WB NO.

AE 4610 AE 4604

WB-4102

AE 4613

WB NO.WB-4101

AE 4609

WB NO.

PORTSPORTS

PORTSPORTS

4 CIRCUIT PROTECTION VALVE 4 CIRCUIT PROTECTION VALVE

4 CIRCUIT PROTECTION VALVE 4 CIRCUIT PROTECTION VALVE

4 CIRCUIT PROTECTION VALVE 4 CIRCUIT PROTECTION VALVE

4 CIRCUIT PROTECTION VALVE 4 CIRCUIT PROTECTION VALVE

4 CIRCUIT PROTECTION VALVE 4 CIRCUIT PROTECTION VALVE

PORTSPORTS

PORTSPORTS

WB-4112BWB NO.

WB-4113

AE 4404

WB NO.

WB-4115WB NO.

WB-4117

934 714 151 0

WB NO.

WB-4112C

AE 4170

WB NO.

WB-4114

AE 4162

WB NO.

WB-4116

934 713 004 0

WB NO.

WB-4112AWB NO.

AE 4158 AE 4168

WB-4111B

934 714 013 0

WB NO.WB-4111A

934 714 010 0

WB NO.

PORTSPORTS

PORTSPORTS

4 CIRCUIT PROTECTION VALVE 4 CIRCUIT PROTECTION VALVE

4 CIRCUIT PROTECTION VALVE 4 CIRCUIT PROTECTION VALVE

4 CIRCUIT PROTECTION VALVE 4 CIRCUIT PROTECTION VALVE

4 CIRCUIT PROTECTION VALVE 4 CIRCUIT PROTECTION VALVE

4 CIRCUIT PROTECTION VALVE 4 CIRCUIT PROTECTION VALVE

PORTSPORTS

PORTSPORTS

1=M22X1.5

21,22,23,24=M16X1.5

Open Press 21,22,24: 6.5Bar

Open Press 23: 7.3Bar

1=M22x1.5 VOSS

21-24=M22x1.5 VOSS

Open Press 21-24: 7.0Bar

1=M22x1.5

11,12,21-24=M16x1.5

Open Press 21,22: 5.8 Bar

Open Press 23,24: 6.3 Bar

1=M22x1.5

21,22,23,24=Φ9mm

Open Press 21,22,24: 7.0Bar

Open Press 23: 7.3Bar

1=M22x1.5 

11,12,21-24=M16x1.5

Open Press 21,22:6.3Bar

Open Press 23,24: 5.8Bar

PORTS

1=M22x1.5

21,22,23,24=M16x1.5

Open Press 21,22,24: 6.9Bar

Open Press 23: 7.0Bar

1=M22x1.5 VOSS

21,22,23,24=M22x1.5 VOSS

Open Press 21-24: 7.0Bar

 

1=M22x1.5

21,22,23,24=M16x1.5

Open Press 21-24: 7.0Bar

1=M22x1.5

11,12,21-24=M16x1.5

Open Press 21-24: 7.0Bar

1,21-24=M22x1.5 VOSS

Open Press 21,22,24: 6.9Bar

Open Press  23: 7.0Bar

934 702 260 0

1=M22x1.5

21-24=M16x1.5

Open Press 21-24:5.9Bar

1=1/2"NPT

21-24=3/8"NPT

Open Press 21-24:6.8Bar

1=M22x1.5 VOSS

21,22,23,24=M22x1.5 VOSS

Open Press 21,22: 0Bar

Open Press 23,24: 6.5Bar

 

1=M22x1.5

21,22,23,24=M16x1.5

Open Press 21-24: 7.0Bar

1=M22x1.5 ;

21,22,23,24=M16x1.5

Open Press 21-24: 6.5Bar

1=M22x1.5 ;

21,22,23,24=M16x1.5

Open Press 21-24: 7.0Bar

1=M22x1.5 ,

11,12,21-24=M16x1.5

Open Press 21-24: 7.0Bar

1=M22x1.5 ,

21,22,23,24=Φ9mm;

Open Press 21,22,23: 7.0Bar

Open Press 24: 6.5Bar

1=1/2"NPT ,

21,22,23,24=3/8"NPT

Open Press 21-24: 7.3Bar

1=M22x1.5 ;

11,22,23,24=M16x1.5

Open Press 21,22,24: 6.5Bar

Open Press 23: 7.0Bar

AE 4440

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

21 22www wabco cn          www.xmwabco.cn. . . . www wabco cn          www.xmwabco.cn. . . .

PORTS PORTSPORTS

TRUCK & TRAILER PARTSXiamen Wabco Industrial Co.,Ltd



WB-4120ADT NO.

WB-4121

AE 4502

WB NO.WB-4120BWB NO.

WB-4122

AE 4528

WB NO.

WB-4119BDT NO.

934 702 300 0

WB-4119A

934 701 000 0

WB NO.WB-4118

934 700 040 0

WB NO.

PORTSPORTS

PORTSPORTS

4 CIRCUIT PROTECTION VALVE 4 CIRCUIT PROTECTION VALVE

4 CIRCUIT PROTECTION VALVE 4 CIRCUIT PROTECTION VALVE

4 CIRCUIT PROTECTION VALVE

PORTS

1=M22x1.5

21,22,23,24=M16x1.5

Open Press 21,22: 6.0Bar

Open Press 23,24: 5.5Bar

PORTS

26=M22x1.5 VOSS

21,22,23,24=M16x1.5

Open Press 21,22: 7.2-7.5Bar

Open Press 23,24: 7.7-8.0Bar

 

WB-4204WB NO.

WB-4206

975 303 464 0

WB NO.

WB-4208WB NO.

WB-4210

275491

WB NO.

WB-4205

975 303 474 0

WB NO.

WB-4207

100-3515010

WB NO.

WB-4209

MC808718

WB NO.

WB-4203WB NO.

975 303 085 0 975 303 473 0

WB-4202

975 300 014 0

WB NO.WB-4201

975 300 110 0

WB NO.

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTS

 

DR 3500

1=M22x1.5

21,22=M16x1.5

Open Press 21,22: 6.0Bar

1=M22X1.5 ,

21,22,23=M16X1.5

Open Press 21-24:5.7Bar

1=M22x1.5 

21,22,23=M16x1.5

Open Press 21-24: 7.0Bar

1=M22X1.5 ,

21,22,23,24=M16x1.5

Open Press 21-24:7.0Bar

934 702 000 0

INLET=M16x1.5

DEL=M22x1.5

Open Press 21,22,24: 7.0Bar

Open Press 23: 7.5Bar

934 701 041 0

UNLOADER VALVE UNLOADER VALVE

UNLOADER VALVE UNLOADER VALVE

UNLOADER VALVE UNLOADER VALVE

UNLOADER VALVE UNLOADER VALVE

Cut Out Pressure: 8.1Bar

1+21=M22x1.5

Cut Out Pressure: 8.1Bar

1+21=M22x1.5

Cut Out Pressure: 9.5Bar

1+21=M22x1.5

4+23=M12x1.5

Cut Out Pressure: 8.1Bar

1+21=M22x1.5

22=M12x1.5

Cut Out Pressure: 8.1Bar

1+21=M22x1.5,

22+23+4=M12x1.5

Cut Out Pressure: 8.1Bar

Safty: 12Bar

Ports: 1+21=M22x1.5

 1,2=M22x1.5

D2 GOVERNOR VALVE

Pressure Psi: 100-120

Ports: 1/8"NPT

RES=1/8"NPT

ULN=1/4"NPT

Cut Pressure: 8.2Bar

Cut Out Pressure: 8.1Bar

1,21,22=M22x1.5

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

PORTSPORTS

23 24www wabco cn          wwwxmwabco.cn. . . . www wabco cn          www.xmwabco.cn. . . .

D2 GOVERNOR VALVE

MULTI CIRCUIT PROTECTION VALVE

MULTI CIRCUIT PROTECTION VALVE

TRUCK & TRAILER PARTSXiamen Wabco Industrial Co.,Ltd



WB-4302BWB NO.

WB-4304A

973 011 000 0

WB NO.

WB-4304CWB NO.

WB-4306

AC574BYW

WB NO.

WB-4303

973 011 002 0

WB NO.

WB-4304B

973 011 001 0

WB NO.

WB-4305

973 011 004 0

WB NO.

WB-4302AWB NO.

473 017 000 0 473 017 030 0

WB-4301B

973 001 020 0

WB NO.WB-4301A

973 001 010 0

WB NO.

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTS

973 011 005 0

RELAY  VALVE RELAY  VALVE

RELAY  VALVE RELAY  VALVE

RELAY  VALVE RELAY  VALVE

RELAY  VALVE RELAY  VALVE

RELAY  VALVE RELAY  VALVE

WB-4309WB NO.

WB-4311

973 011 206 0

WB NO.

WB-4312BWB NO.

WB-4314A

KN28500

WB NO.

WB-4310

973 011 201 0

WB NO.

WB-4312A

973 006 000 0

WB NO.

WB-4313

973 006 003 0

WB NO.

WB-4308BWB NO.

973 011 203 0 973 011 205 0

WB-4308A

973 011 200 0

WB NO.WB-4307

973 011 050 0

WB NO.

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTS

973 006 001 0

RELAY  VALVE RELAY  VALVE

RELAY  VALVE RELAY  VALVE

RELAY  VALVE RELAY  VALVE

RELAY  VALVE RELAY  VALVE

RELAY  VALVE

1,2=M22x1.5;

4=M16x1.5 

4=M16x1.5

1=M22x1.5;

21,22,23=M16x1.5

1=M22x1.5;

21,22,41,42=M16x1.5 

1,2=M22x1.5

4=M16x1.5

PORTS All Ports=M22x1.5

1,2=M22x1.5

4=M16x1.5

1,2=M22x1.5 VOSS;

4=M16x1.5 VOSS

1,2=1/2"NPT

4=1/4"NPT

1,2=M22x1.5;

4=M16x1.5 VOSS

WITH SILENCER

1=M22x1.5

2,4=M16x1.5
1,2,4=M22x1.5

All Ports=M22x1.5 PORTS

1,2=M22x1.5 VOSS;

41,42=M16x1.5VOSS

1,2=M22x1.5

41,42=M16x1.5

1,2=M22x1.5 VOSS;

41,42=M16x1.5 VOSS

WITH SILENCER

1,21=M22x1.5 VOSS;

22,41,42=M16x1.5 VOSS

WITH SILENCER

1,2=M22x1.5VOSS

4=M16x1.5

WITH SILENCER

1,2=M22x1.5

4=M16x1.5

1=M22x1.5

2,4=M16x1.5

SUP1+2=3/8"NPT

DEL=3/8"NPT

COUT=1/4"NPT

RG-2 RELAY VALVE

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

25 26. . . . . . . .
www wabco cn          www.xmwabco.cn www wabco cn         www.xmwabco.cn

TRUCK & TRAILER PARTSXiamen Wabco Industrial Co.,Ltd



WB-4315WB NO.

WB-4317

103028

WB NO.

WB-4319AWB NO.

WB-4319C

110460

WB NO.

WB-4316

103009

WB NO.

WB-4318

103010

WB NO.

WB-4319B

110200

WB NO.

WB-4314DWB NO.

KN28531 102626

WB-4314C

KN28520

WB NO.WB-4314B

KN28510

WB NO.

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTS

110205

WB-4322AWB NO.

WB-4322C

KN30400

WB NO.

WB-4323BWB NO.

WB-4324B

28601

WB NO.

WB-4322B

KN30200

WB NO.

WB-4323A

281860

WB NO.

WB-4324A

28600

WB NO.

WB-4321BWB NO.

280375  KN30100

WB-4321A

279180

WB NO.WB-4320

116205

WB NO.

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTS

281865

RG-2 RELAY VALVE RG-2 RELAY VALVE

SUP1=1/2"NPT

SUP2=3/8"NPT

DEL=3/8"NPT

COUT=1/4"NPT

SUP1+2=1/2"NPT;

DEL=1/2"NPT

COUT=1/4"NPT

SUP1=3/8"NPT

SUP2=1/2"NPT

DEL=3/8"NPT

COUT=1/4"NPT

RG-2 RELAY VALVE R-12 RELAY VALVE

R-12H RELAY VALVE R-14 RELAY VALVE

R-14H RELAY VALVE

SUP=1/2"NPT

DEL=1/2"NPT

CON=1/4"NPT

 SUP=3/4"NPT

DEL=1/2"NPT

CON=1/4"NPT

SUP=1/2"NPT

DEL=1/2"NPT

CON=1/4"NPT

BAL=1/8"NPT

SUP=3/4"NPT

DEL=1/2"NPT

CON=1/4"NPT

BAL=1/8"NPT

RELAY EMERGENCY VALVE

RELAY EMERGENCY VALVERELAY EMERGENCY VALVE

SUP=3/4"NPT

DEL=4-3/8"NPT

EME=2-3/8"NPT

SER=3/8"NPT

SUP=3/4"NPT

DEL=4-3/8"NPT

EME=2-1/4"NPT

SER=1/4"NPT

SUP=3/4"NPT

DEL=4-3/8"NPT

EME=2-1/4"NPT

SER=3/8"NPT

RELAY EMERGENCY VALVE

SUP=3/4"NPT

DEL=6-3/8"NPT

EME=2-1/4"NPT

SER=3/8"NPT

R-6 RELAY EMERGENCY VALVE

SUP=3/8"NPT

DEL=3/8"NPT;

CON=1/4"NPT

Ports: SUP=1/2"NPT

DEL=3/8"NPT;

CON=1/4"NPT

R-6 RELAY EMERGENCY VALVE RELAY EMERGENCY VALVE

RELAY EMERGENCY VALVE RELAY EMERGENCY VALVE

DEL=1/4"NPT

RES=3/4"NPT

SER=1/4"NPT

EME=1/4"NPT

DEL=3/8"NPT

RES=3/4"NPT

SER=3/8"NPT

EME=3/8"NPT

DEL=3/8"NPT

RES=3/4"NPT

SER=1/4"NPT

EME=1/4"NPT

SUP=3/4"NPT

RES=3/8"NPT

All Others=1/4"NPT

SUP=3/4"NPT

RES=3/8"NPT

DEL=2-1/4+2-3/8"NPT

EM+SER=1/4"NPT

RELAY EMERGENCY VALVE RELAY EMERGENCY VALVE

RE-6 RELAY EMERGENCY VALVE

SUP+SPR=1/2"NPT

DEL=3/8"NPT

CON=1/4"NPT

SUP+SPR=3/4"NPT

DEL=3/8"NPT

CON=1/4"NPT

RE-6 RELAY EMERGENCY VALVE

PORTS PORTS

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

27 28www wabco cn          www.xmwabco.cn. . . . www wabco cn          www.xmwabco.cn. . . .

TRUCK & TRAILER PARTSXiamen Wabco Industrial Co.,Ltd



WB-4327AWB NO.

WB-4328

971 002 000 0

WB NO.

WB-4330WB NO.

WB-4332

 971 002 151 0

WB NO.

WB-4327B

971 002 701 0 

WB NO.

WB-4329

971 002 150 0

WB NO.

WB-4331

971 002 570 0

WB NO.

WB-4326BWB NO.

971 002 307 0 

971 002 700 0 

WB-4326A

971 002 300 0 

WB NO.WB-4325

971 002 304 0 

WB NO.

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTS

971 002 531 0

WB-4336AWB NO.

WB-4337A

472 195 009 0

WB NO.

WB-4337CWB NO.

WB-4338BWB NO.

WB-4336B

472 195 018 0

WB NO.

WB-4337B

472 195 011 0

WB NO.

WB-4338A

472 900 053 0

WB NO.

WB-4335WB NO.

472 195 031 0 472 195 016 0

WB-4334

950 364 047

WB NO.WB-4333

971 002 152 0

WB NO.

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTS

472 195 015 0

RELAY E MERGENCY VALVERELAY EMERGENCY VALVE

RELAY EMERGENCY VALVERELAY EMERGENCY VALVE

RELAY EMERGENCY VALVERELAY EMERGENCY VALVE

RELAY EMERGENCY VALVERELAY EMERGENCY VALVE

RELAY EMERGENCY VALVERELAY EMERGENCY VALVE RELAY EMERGENCY VALVE

 4=M22x1.5

 1,2,1-2,41=M22x1.5 

4=M16x1.5 

1,2,1-2,41=M22x1.5 

All Ports=M22x1.5 

Comment: Fixed at 0Bar

4=M16x1.5

1,2,1-2,41=M22x1.5 

1,4=M16x1.5

 2,1-2,41=M22x1.5 
All Ports= M22x1.5

All Ports=M22x1.5 All Ports= M22x1.5

All Ports=M22x1.5

Comment: Fixed at 0Bar

1-2=M22x1.5

Others=M16x1.5

1-2=M22x1.5

4=M16x1.5;

2=4-M16+1-M22x1.5

ABS MODULATOR RELAY VALVE

ABS MODULATOR RELAY VALVE ABS MODULATOR RELAY VALVE

RES=M22x1.5

DEL=M16x1.5

CON=M16x1.5

SOENOID: M27x1.0

1,2=M22x1.5

4=M16x1.5
1,2=M22x1.5 VOSS

1,2=M22x1.5 VOSS 1,2=M22x1.5 VOSS

1,2=M22x1.5 VOSS 1,2=M22x1.5 VOSS

ABS MODULATOR RELAY VALVE ABS MODULATOR RELAY VALVE

ABS MODULATOR RELAY VALVE ABS MODULATOR RELAY VALVE

ABS MODULATOR RELAY VALVE ABS MODULATOR RELAY VALVE

472 900 062 0

All Ports= M22x1.5 All Ports= M22x1.5

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

PORTS PORTS

29 30www wabco cn          www.xmwabco.cn. . . . www wabco cn          www.xmwabco.cn. . . .

TRUCK & TRAILER PARTSXiamen Wabco Industrial Co.,Ltd



WB-4401DWB NO.

WB-4402B

MB 4629

WB NO.

WB-4404WB NO.

WB-4406

461 319 008 0

WB NO.

WB-4402A

461 315 014 0

WB NO.

WB-4403

461 315 258 0

WB NO.

WB-4405

461 315 248 0

WB NO.

WB-4401CWB NO.

461 315 479 0 461 315 042 0

WB-4401B

461 315 004 0

WB NO.WB-4401A

461 315 008 0

WB NO.

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTS

461 315 264 0

FOOT BRAKE VALVE

FOOT BRAKE VALVE

FOOT BRAKE VALVE

FOOT BRAKE VALVE

FOOT BRAKE VALVE FOOT BRAKE VALVE

FOOT BRAKE VALVE FOOT BRAKE VALVE

FOOT BRAKE VALVE FOOT BRAKE VALVE

PORTS

WB-4410WB NO.

WB-4411B

MB 4815

WB NO.

WB-4413WB NO.

WB-4415

277863

WB NO.

WB-4411A

MB 4821

WB NO.

WB-4412

461 315 180 0

WB NO.

WB-4414

286171

WB NO.

WB-4409WB NO.

461 319 270 0 MB 4694

WB-4408

461 319 274 0

WB NO.WB-4407

461 319 271 0

WB NO.

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTS

MB 4690

FOOT BRAKE VALVE

FOOT BRAKE VALVE

FOOT BRAKE VALVE

FOOT BRAKE VALVE

FOOT BRAKE VALVE FOOT BRAKE VALVE

FOOT BRAKE VALVE FOOT BRAKE VALVE

E3 FOOT BRAKE VALVE

PORTS

Pred: 0.3Bar

Ports: 8-M16x1.5

4-M16x1.5
Pred: 0BAR

8-M16x1.5,2-M12x1.5

 

Pred: 0.3Bar

4-M16x1.5,2-M12x1.5

Pred: 0.4Bar

All Ports=M22x1.5 VOSS
11+12/21+22=M22 VOSS

Pred: 0.4Bar

Patio: 2:1

11+12/21+22=M22 VOSS

Ports: 8-M16x1.5

Port4=M12x1.5

Pred: 0.4Bar

Patio: 2:1

11+12/21+22=M22 VOSS

4=M16x1.5 VOSS

11+12/21+22=M22 VOSS

4=M16x1.5 VOSS

Pred: 0.4Bar

Patio: 2:1

11+12/21+22=M22 VOSS

4=M16x1.5 VOSS

Ports: 5-M22x1.5 VOSS

Pred.: 0.3Bar

11,12=M22x1.5 VOSS

21,22=M22x1.5 VOSS

Ports: 8-M16x1.5

            3-M12x1.5

Pred.: 0.2Bar

11,12,21,22=Φ12mm

SQ NO.: SQ01013

ORIGINAL NO.: 

All Ports= 3/8"NPT

8-M16x1.5 8-M16x1.5

E6 FOOT BRAKE VALVE

SUP+DEL= 3/8"NPT

SUP=1/4'NPT

Holes: 3x5/16-18UNC

11,12=M22x1.5 VOSS

21,22=M22x1.5 VOSS

4=M16x1.5 VOSS

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

31 32www wabco cn          www.xmwabco.cn. . . . www wabco cn          www.xmwabco.cn. . . .

TRUCK & TRAILER PARTSXiamen Wabco Industrial Co.,Ltd



WB-4418BWB NO.

WB-4420WB NO.

WB-4422WB NO.

WB-4424

461 317 024 0

WB NO.

WB-4419

229501

WB NO.

WB-4421

MC 838211

WB NO.

WB-4423

461 317 008 0

WB NO.

WB-4418AWB NO.

461 307 479 0 461 307 439 0

WB-4417

286773

WB NO.WB-4416

800629

WB NO.

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTS

461 307 500 0

E8 FOOT BRAKE VALVE

FOOT BRAKE VALVE

FOOT BRAKE VALVE

FOOT BRAKE VALVE

FOOT BRAKE VALVE FOOT BRAKE VALVE

FOOT BRAKE VALVE FOOT BRAKE VALVE

FOOT BRAKE VALVE FOOT BRAKE VALVE

PORTS

WB-4428WB NO.

WB-4430

102 327 500 0

WB NO.WB-4429

MB 4436

WB NO.

WB-4427WB NO.

461 491 102 0 5320-3514108

WB-4426

461 482 095 0

WB NO.WB-4425

461 317 002 0

WB NO.

PORTSPORTS

PORTSPORTS

PORTS

FOOT BRAKE VALVE

FOOT BRAKE VALVE

FOOT BRAKE VALVE

FOOT BRAKE VALVE

FOOT BRAKE VALVE FOOT BRAKE VALVE

PORTSAll Ports= M22×1.5

11,12= 3/8"NPT

21,22= 3/8"NPT

Holes: 6x5/16-18UNC

SUP=2- 1/2"+2-1/4"

DEL=4-1/2"NPT

AUX=2-1/4"NPT

All Ports= 3/8"NPT

All Ports= M16×1.5

SUP= 3/8"NPT

DEL= 3/8"NPT

All Ports= 3/8"NPT All Ports= 3/8"NPT

11+12/21+22=M16x1.511+12/21+22=M16x1.5

All Ports= M16x1.5 All Ports= 3/8"NPT

 8-3/8"NPT 8-3/8"NPT

4-M16x1.5 4-M18x1.5

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

33 34www wabco cn          www.xmwabco.cn. . . . www wabco cn          www.xmwabco.cn. . . .

TRUCK & TRAILER PARTSXiamen Wabco Industrial Co.,Ltd



WB-4504WB NO.

WB-4506

961 722 314 0

WB NO.

WB-4508WB NO.

WB-4510

961 722 252 0

WB NO.

WB-4505

961 722 160 0

WB NO.

WB-4507

961 722 266 0

WB NO.

WB-4509

961 722 258 0

WB NO.

WB-4503WB NO.

961 722 152 0 961 722 151 0

WB-4502

961 722 168 0

WB NO.WB-4501

961 722 150 0

WB NO.

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTS

961 722 212 0

HAND BRAKE VALVE HAND BRAKE VALVE

HAND BRAKE VALVE HAND BRAKE VALVE

HAND BRAKE VALVE HAND BRAKE VALVE

HAND BRAKE VALVE HAND BRAKE VALVE

HAND BRAKE VALVE HAND BRAKE VALVE

WB-4514WB NO.

WB-4516

961 723 102 0

WB NO.

WB-4518WB NO.

WB-4520

961 723 112 0

WB NO.

WB-4515

961 723 021 0

WB NO.

WB-4517

961 723 005 0

WB NO.

WB-4519

961 723 019 0

WB NO.

WB-4513WB NO.

961 723 001 0 961 723 108 0

WB-4512

961 723 100 0

WB NO.WB-4511

961 723 004 0

WB NO.

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTS

961 723 104 0

HAND BRAKE VALVE HAND BRAKE VALVE

HAND BRAKE VALVE HAND BRAKE VALVE

HAND BRAKE VALVE HAND BRAKE VALVE

HAND BRAKE VALVE HAND BRAKE VALVE

HAND BRAKE VALVE HAND BRAKE VALVE

1,2=M14x1.5

11,21,22=M14x1.5

SLIDE LOCK

1,2=M16x1.5

1,2=M16x1.5 VOSS

1,2=M16x1.5 VOSS

1,21,22=M16x1.5 VOSS

1,21,22=M16x1.5

1,21,22=M16x1.5

1,21=M16x1.5 VOSS 1,21,22=M16x1.5 VOSS

1,21=M16x1.5 VOSS 1,21,22=M16x1.5 VOSS

1,2=M14x1.5

1,2=M14x1.5 1,2=M14x1.5

11,21,22=M14x1.5

11,21,22=M14x1.511,21,22=M14x1.5

1,2=M14x1.5

PORTS

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

PORTS

35 36www wabco cn          www.xmwabco.cn. . . . www wabco cn          www.xmwabco.cn. . . .

TRUCK & TRAILER PARTSXiamen Wabco Industrial Co.,Ltd



WB-4602BWB NO.

WB-4604

 973 009 300 0

WB NO.

WB-4606AWB NO.

WB-4603C

973 002 521 0

WB NO.

WB-4605

973 009 010 0

WB NO.

WB-4606B

973 009 002 0

WB NO.

WB-4602AWB NO.

973 002 501 0 973 002 520 0

WB-4601B

973 002 007 0

WB NO.WB-4601A

973 002 402 0

WB NO.

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTS

PORTS

973 009 001 0

WB-4523BWB NO.

WB-4525

961 723 217 0

WB NO.

WB-4527WB NO.

WB-4529

961 701 100 0

WB NO.

WB-4524

 APSA5890

WB NO.

WB-4526

961 702 001 0

WB NO.

WB-4528

961 702 004 0

WB NO.

WB-4523AWB NO.

HB1143 HB1142

WB-4522

DPM95AAX

WB NO.WB-4521

DPM94AAX

WB NO.

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTS

961 701 105 0

HAND BRAKE VALVE HAND BRAKE VALVE

HAND BRAKE VALVE HAND BRAKE VALVE

HAND BRAKE VALVE HAND BRAKE VALVE

HAND BRAKE VALVE HAND BRAKE VALVE

HAND BRAKE VALVE HAND BRAKE VALVE

1,21=M16x1.5 1,21,22=M16x1.5

1,2=M14x1.5

Pressure: 7.5 Bar

1,2=M14x1.5

Pressure: 8.0 Bar

All Ports=1/4"NPT 1,21,22=M16x1.5

All Ports=M14x1.5 All Ports=M14x1.5

All Ports=M14x1.5 All Ports=M14x1.5

Pred: 0Bar-Fixed

1,2,41,42,43=M16x1.5

TRAILER CONTROL VALVE

Pred: 0Bar-Adjustable

1,2,41,42,43=M22x1.5

TRAILER CONTROL VALVE

TRAILER CONTROL VALVE TRAILER CONTROL VALVE

TRAILER CONTROL VALVE TRAILER CONTROL VALVE

TRAILER CONTROL VALVE TRAILER CONTROL VALVE

Pred: 0Bar-Fixed

11,12,22=M16x1.5

41,42,43=M16x1.5

Pred: 0.2Bar-Adjustable

11,12,22=M16x1.5

41,42,43=M16x1.5

Pred: 0.2Bar-Adjustable

11,12,22=M16x1.5

41,42,43=M16x1.5

Pred: 0.2Bar

11,12,22=M22x1.5 VOSS

41,42=M22x1.5 VOSS

43=M16x1.5 VOSS

Pred: 0.2Bar

11,12,22=M22x1.5 VOSS

41,42=M22x1.5 VOSS

43=M16x1.5 VOSS

Pred: 0.4Bar

11,12,22=M16x1.5

41,42,43=M16x1.5

WITH SILENCER

Pred: 0.2Bar

11,12,22=M16x1.5

41,42,43=M16x1.5

TRAILER CONTROL VALVE

PORTS

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

PORTS

37 38www wabco cn          www.xmwabco.cn. . . . www wabco cn          www.xmwabco.cn. . ..

TRUCK & TRAILER PARTSXiamen Wabco Industrial Co.,Ltd



WB-4718B

050 000 500 2

WB NO.WB-4718A

050 000 500 1

WB NO.

PORTSPORTS

LEVELING VALVE LEVELING VALVE

ALL M12×1.5 ALL M12×1.5

WB-4720BWB NO.

WB-4721BWB NO.

WB-4723WB NO.

WB-4721AWB NO.

WB-4722WB NO.

WB-4720AWB NO.

WB-4719BWB NO.WB-4719AWB NO.

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTS

LEVELING VALVE LEVELING VALVE

LEVELING VALVE LEVELING VALVE

LEVELING VALVE LEVELING VALVE

LEVELING VALVE LEVELING VALVE

050 000 500 6 050 000 500 7

1,2,3=M12×1.5 1,2,3=M12×1.5

464 006 000 0    464 006 001 0    

1,3,21,22=M12×1.5

464 006 002 0    464 006 003 0    

1,21,22=1/4"NPT

1,3,21,22=M12×1.5

1,21,22=M12×1.5

464 002 330 0

1,21,22=M12×1.5

12,23=M16×1.5

464 006 100 0

1,21,22=M12×1.5

WB-4725WB NO.WB-4724WB NO.

PORTSPORTS

LEVELING VALVE LEVELING VALVE

SV 1294

11,12=M12×1.5

SV 1310

11,12=M12×1.5

WB-4729WB NO.WB-4728WB NO.

WB-4727WB NO.WB-4726WB NO.

PORTSPORTS

PORTS

SV 1280  

4,11,21=M12×1.5

12,23=M16×1.5

SV 1318

SV 1295SV 1361

11,12=M12×1.5 4,11,12=M12×1.5

4,11,12=M12×1.5

LEVELING VALVELEVELING VALVE

LEVELING VALVELEVELING VALVE

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

PORTS

39 40www wabco cn          www.xmwabco.cn. . . . www wabco cn          www.xmwabco.cn. . . .

PORTS

TRUCK & TRAILER PARTSXiamen Wabco Industrial Co.,Ltd



WB-4811

44760-1040

WB NO.WB-4810

7545-1108900

WB NO.

PORTSPORTS
SUP=1/8"NPT

DEL=1/8"NPT

EXH=1/8"NPT

REF NO. REF NO.

1,2=1/8"NPT

WB-4813

V-289329

WB NO.WB-4812

22008

WB NO.

PORTSPORTS All Ports= 3/8"NPT

REF NO. REF NO.

1,2=1/8"NPT

WB-4804WB NO.

WB-4806WB NO.

WB-4808WB NO.

WB-4809B

287600

WB NO.

WB-4805WB NO.

WB-4807

463 022 020 0

WB NO.

WB-4809A

276566

WB NO.

WB-4803WB NO.

WB-4802WB NO.WB-4801WB NO.

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTS

229635

DIRECTIONAL CONTROL VALVE

DIRECTIONAL CONTROL VALVE

DIRECTIONAL CONTROL VALVE

463 036 000 0

 1+2 = M10×1

463 036 005 0

1+2 = M16×1.5 VOSS
3=M10×1

541L9101

All Ports=1/4"NPT

ZF050128630

1= M12×1.5

41= M10×1

571 003 104 0

All Ports=M10×1  All Ports=1/8"NPT

1+2=M10x1

SUP=1/8"NPT

DEL=1/8"NPT

Installtion: 2xW3/16-24

SUP=1/8"NPT

DEL=1/8"NPT

EXH=1/8"NPT

TW-1 CONTROL VALVE

PP-1 CONTROL VALVE

SUP=1/8"NPT

DEL=1/8"NPT

EXH=1/4"NPT

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

PORTS

WB-5101WB NO.WB-4903WB NO.

WB-4902WB NO.WB-4901WB NO.

PORTSPORTS

PORTS

BUTTON VALVE

463 013 112 0 463 013 200 0

463 013 114 0

 1+2+3= M12×1.5      
1+21= M16×1.5VOSS
3=M12×1.5     

 1+2+3= M12×1.5      

GEARBOX VALVE

BUTTON VALVE

BUTTON VALVE

SV 3360

ALL M12x1.5

REF NO.

REF NO.

REF NO.

REF NO.

WB-5103WB NO.WB-5102WB NO.

PORTSPORTS

GEARBOX VALVEGEARBOX VALVE

SV 3302

ALL M12x1.5

SV 3367

1= M12x1.5

21,22= M14x1.5

REF NO. REF NO.

PORTS

41 42

CONTROL VALVE PRESS CONTROL VALVE

CONTROL VALVE DIRECTIONAL CONTROL VALVE   

www wabco cn          www.xmwabco.cn. . . . www wabco cn          www.xmwabco.cn. . . .

DIRECTIONAL CONTROL VALVE

DIRECTIONAL CONTROL VALVE

DIRECTIONAL CONTROL VALVE

DIRECTIONAL CONTROL VALVE

PP-1 CONTROL VALVE

TRUCK & TRAILER PARTSXiamen Wabco Industrial Co.,Ltd



WB-5109WB NO.WB-5108WB NO.

PORTSPORTS

GEARBOX VALVEGEARBOX VALVE

1669297

1,2= 1/8"NPT

ZH-DNB001REF NO. REF NO.

SUP=1/4"NPT

DEL=1/4"NPT

WB-5301AWB NO.WB-5209WB NO.

KN 32010

WB-5208B

289182

WB NO.WB-5208A

289714

WB NO.

PORTSPORTS

PORTS

SUP=

DEL=3/8"NPT

EXH=1/4"NPT

1/4"NPT SUP=

DEL=1/4"NPT

EXH=1/4"NPT

1/4"NPT

SUP=

DEL=3/8"NPT

1/2"NPT

475 710 000 0

1+2+4=M16x1.5PORTS

REF NO.

REF NO.

REF NO.

REF NO.

WB-5202WB NO.WB-5201CWB NO.

WB-5201BWB NO.WB-5201AWB NO.

PORTSPORTS

PORTS

QUICK RELEASE VALVE

QUICK RELEASE VALVE

973 500 000 0

  973 500 014 0

973 500 006 0

SUP=

DEL=M22x1.5

EXH=M22x1.5

M22x1.5

SUP=

DEL=3/8"NPT

EXH=3/8"NPT

1/2"NPT

41011-90004

SUP(11)=

DEL(2)=3/8"NPT

1/2"NPT

SUP=

DEL=M16x1.5

EXH=M16x1.5

M16x1.5

PORTS

REF NO.

REF NO.

REF NO.

REF NO.

WB-5203BWB NO.

WB-5205WB NO.

WB-5207WB NO.

WB-5203AWB NO.

WB-5204WB NO.

WB-5206WB NO.

PORTSPORTS

PORTSPORTS

PORTSPORTS

SUP=

DEL=3/8"NPT

1/2"NPT

229859 229860

SUP=

DEL=3/8"NPT

1/2"NPT

973 500 038 0

1,3=

21-24=M16x1.5 VOSS

M22x1.5 VOSS

973 500 034 0

973 500 028 0 975 001 000 0

All Ports=M22x1.51,21-23=M22x1.5 VOSS

All Ports=M22x1.5

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

43 44

WB-5105WB NO.

WB-5107WB NO.

WB-5104WB NO.

WB-5106WB NO.

PORTSPORTS

PORTSPORTS

GEARBOX VALVEGEARBOX VALVE

GEARBOX VALVEGEARBOX VALVE

SV 3368

1= M12x1.5

21,22= M14x1.5

SV 3371

1,21,22= M12x1.5

1669324

1,2= M16×1.5 1,2= 1/8"NPT

1319557

REF NO.

REF NO.

REF NO.

REF NO.

www wabco cn          www.xmwabco.cn. . . . www wabco cn          www.xmwabco.cn. . . .

QUICK RELEASE VALVE

QUICK RELEASE VALVE

QUICK RELEASE VALVE

QUICK RELEASE VALVE

QUICK RELEASE VALVE

QUICK RELEASE VALVE

QUICK RELEASE VALVE

QUICK RELEASE VALVE

QUICK RELEASE VALVE

QUICK RELEASE VALVE

QUICK RELEASE VALVE

LOAD SENSING VALVE

TRUCK & TRAILER PARTSXiamen Wabco Industrial Co.,Ltd



WB-5407WB NO.

PORTS

PRESSURE REGULATOR

A4740

SUP=3/8"NPT

DEL=1/8"NPT

REF NO.

WB-5501WB NO.

PORTS

463 032 020 0

1=M16x1.5

OTHERS=M12x1.5

ROTARY SLIDE VALVE

REF NO.

WB-5402WB NO.WB-5401CWB NO.

WB-5401BWB NO.WB-5401AWB NO.

PORTSPORTS

PORTS

PRESSURE LIMITING VALVE

475 010 301 0475 010 300 0 

475 010 317 0

1+2=M22x1.5

Pressure: 10±0.3Bar

1+2=M22x1.5 VOSS

Pressure: 6.5-6.8Bar

475 010 400 0

All Ports=M22x1.5 VOSS

1+2=M22x1.5

Pressure: 8.5Bar

PORTS

REF NO.

REF NO.

REF NO.

REF NO.

WB-5403BWB NO.WB-5403AWB NO.

PORTS

PRESSURE LIMITING VALVE

WB-5404BWB NO.WB-5404AWB NO.

PORTS

PRESSURE LIMITING VALVE

WB-5405BWB NO.DT-5405AWB NO.

PORTS

PRESSURE LIMITING VALVE

434 100 124 0 434 100 125 0

1+2=M22x1.5

Pressure: 5.5Bar

048 100 902 6 048 100 901 7 

1+2=M22x1.5 1+2=M16x1.5

475 015 031 0 475 015 063 0

1+2=M16x1.5 1+2=M16x1.5

1+2=M22x1.5

Pressure: 6.0Bar

PORTS

PORTS

PORTS

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

45 46

WB-5302WB NO.

WB-5303BWB NO.

WB-5304BWB NO.

WB-5301BWB NO.

WB-5303AWB NO.

WB-5304AWB NO.

PORTSPORTS

PORTSPORTS

PORTSPORTS

LOAD SENSING VALVE

LOAD SENSING VALVE

475 710 008 0

1+4=M22x1.5 VOSS

4=M16x1.5VOSS

475 714 500 0

1/4=M22x1.5

2=M16x1.5

41+42=M12x1.5

475 715 500 0 475 715 000 0

475 711 101 0 475 711 108 0

LOAD SENSING VALVE

1/4,2,1-2=M22x1.5

1,2=M16x1.5

41+42=M12x1.5

1/4,1,2=M16x1.5

2,1-2=M22x1.5

41,42=M12x1.5

1=M22x1.5

2+4=M16x1.5

41+42=M12x1.5

1,2+4=M16x1.5

41+42=M12x1.5

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

WB-5406WB NO.

PORTS

PRESSURE LIMITING VALVE

V-065677

SUP=1/4"NPT

DEL=1/4"NPT

REF NO.

WB-5502WB NO.

PORTS

279000

TRACTOR EM: 1/4"NPT

TRACTOR SER: 3/8"NPT

TRAIL EM: 1/2"NPT

TRAIL SER: 1/2"NPT

REF NO.

TP-3 TRACTOR PROTECTION VALVE

www.wabco.cn www.xmwabco.com. . . . www.wabco.cn www.xmwabco.com. . . .

PRESSURE LIMITING VALVE

PRESSURE LIMITING VALVE

PRESSURE LIMITING VALVE

PRESSURE LIMITING VALVE

LOAD SENSING VALVE

LOAD SENSING VALVE

LOAD SENSING VALVE

PRESSURE LIMITING VALVE PRESSURE LIMITING VALVE

TRUCK & TRAILER PARTSXiamen Wabco Industrial Co.,Ltd



WB-5604BWB NO.WB-5604AWB NO.

PORTSPORTS

DOUBLE CHECK VALVE

434 208 000 0

2,11,12=M22x1.5 2,11,12=M16x1.5

434 208 009 0REF NO. REF NO.

WB-5702WB NO.WB-5701WB NO.

PORTS

MANUAL DRAIN VALVE

934 300 003 0

M22x1.5 1/4"NPT

REF NO. REF NO.

PORTS

47 48

WB-5504WB NO.

PORTS

277825/282472/283700REF NO.

WB-5505WB NO.

PORTS

03081

5-M22x1.5 VOSS

REF NO.

WB-5503WB NO.

PORTS

MC820241

1,2=1/8"NPT

REF NO.

WB-5506WB NO.

PORTS

MC802149

Ports: M20x1.5

Open Pressure: 6.6Bar

Close Pressure: 5.9Bar

REF NO.

SUP=1/4"NPT

DEL=1/4"NPT

CON=1/4"NPT

EXH=1/8"NPT

WB-5507BWB NO.

WB-5508BWB NO.

WB-5601WB NO.

WB-5508AWB NO.

WB-5509WB NO.

WB-5507AWB NO.

PORTSPORTS

PORTSPORTS

PORTS

CUT OFF VALVE

 LINE FIL VALVE  LINE FIL VALVE

432 500 020 0 432 500 021 0

1+2=M22x1.5 1+2=M16x1.5

452 002 107 0

ALL M22x1.5 1+2=M22x1.5

475 604 011 0 

475 604 010 0

1+2=M22x1.5

CUT OFF VALVE

CUT OFF VALVE SINGLE CHECK VALVE

434 014 000 0

1+2=M22x1.5

PORTS

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

WB-5603WB NO.WB-5602WB NO.

PORTSPORTS

SINGLE CHECK VALVE

44510-1190 44510-1090

1+2=3/8"NPT 1+2=3/8"NPT

REF NO. REF NO.

SV-1 SUP DEL CONTINUEADAPTOR VALVE

R-7 MODULATING VALVE AIR GOVERNOR

wwwwabco cn   .       www.xmwabco.cn .. . . . www wabco cn   .       www.xmwabco.cn .. . . .

DOUBLE CHECK VALVE

MANUAL DRAIN VALVE

SINGLE CHECK VALVE

TRUCK & TRAILER PARTSXiamen Wabco Industrial Co.,Ltd



WB-6104WB NO.

WB-6106

970 051 126 0

WB NO.

WB-6108WB NO.

WB-6110

970 051 137 0

WB NO.

WB-6105

970 051 124 0

WB NO.

WB-6107

970 051 128 0

WB NO.

WB-6109

970 051 132 0

WB NO.

WB-6103WB NO.

970 051 111 0 970 051 114 0

WB-6102

970 051 107 0

WBNO.WB-6101

970 051 102 0

WB NO.

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTS

970 051 131 0

CLUTCH BOOSTER CLUTCH BOOSTER

CLUTCH BOOSTER CLUTCH BOOSTER

CLUTCH BOOSTER CLUTCH BOOSTER

CLUTCH BOOSTER CLUTCH BOOSTER

CLUTCH BOOSTER CLUTCH BOOSTER

DIA: 76mm

STROKE: 67mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 102mm

STROKE: 58mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 75mm

STROKE: 85mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 76mm

STROKE: 67mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 102mm

STROKE: 58mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 76mm

STROKE: 67mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 102mm

STROKE: 58.5mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 85mm

STROKE: 72mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 105mm

STROKE: 85mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 75mm

STROKE: 85mm

AIR: M16×1.5

HYD: M14×1.5

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

49 50

WB-5807

052 003 001 2

WB NO.

WB-5901WB NO.

PORTS

PORTS

WB-5802WB NO.WB-5801WB NO.

WB-5803WB NO.

WB-5805WB NO.

PORTSPORTS

PORTS

PORTS

QUICK COUPLING QUICK COUPLING

QUICK COUPLING

QUICK COUPLING

M22x1.5

1/2"NPT

1/2"NPT

052 001 002 2

QUICK COUPLING

QUICK COUPLING

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

WB-5806WB NO.

WB-5808WB NO.

PORTS

PORTS

QUICK COUPLING

QUICK COUPLING

1/2"NPT

 1/2"NPT

052 000 001 4

052 001 003 2

REF NO.

REF NO.

WB-5902WB NO.

PORTS

QUICK COUPLING

REF NO.

Φ4,6 8 10 12 14 16, , , , ,Φ4,6 8 10 12 14 16, , , , ,

1/2"NPT M20x1.5

WB-5804WB NO.

PORTS

QUICK COUPLING

REF NO.

1/2"NPT

www wabco cn          www.xmwabco.cn. . . . www wabco cn          www.xmwabco.cn. . . .

PORTS

TRUCK & TRAILER PARTSXiamen Wabco Industrial Co.,Ltd



WB-6124WB NO.

WB-6126

970 051 405 0

WB NO.

WB-6128WB NO.

WB-6130

970 051 423 0

WB NO.

WB-6125

970 051 402 0

WB NO.

WB-6127

970 051 406 0

WB NO.

WB-6129

970 051 412 0

WB NO.

WB-6123WB NO.

970 051 218 0 970 051 307 0

WB-6122

970 051 209 0

WB NO.WB-6121

970 051 192 0

WB NO.

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTS

970 051 407 0

CLUTCH BOOSTER CLUTCH BOOSTER

CLUTCH BOOSTER CLUTCH BOOSTER

CLUTCH BOOSTER CLUTCH BOOSTER

CLUTCH BOOSTER CLUTCH BOOSTER

CLUTCH BOOSTER CLUTCH BOOSTER

DIA: 100mm

STROKE: 58.5mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 102 mm

STROKE: 26mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 102mm

STROKE: 25.2mm

AIR: M16×1.5 

HYD: M14×1.5

DIA: 75mm

STROKE: 85mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 102mm

STROKE: 85mm

AIR: M22×1.5

HYD: M14×1.5

DIA: 102 mm

STROKE: 26mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 102mm

STROKE: 85mm

AIR: M22×1.5 VOSS

HYD: M14×1.5

DIA: 102 mm

STROKE: 85mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 102mm

STROKE: 85mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 102mm

STROKE: 85mm

AIR: M16×1.5

HYD: M14×1.5

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

PORTS

51 52

WB-6114WB NO.

WB-6116

970 051 164 0

WB NO.

WB-6118WB NO.

WB-6120

970 051 190 0

WB NO.

WB-6115

970 051 163 0

WB NO.

WB-6117

970 051 170 0

WB NO.

WB-6119

970 051 178 0

WB NO.

WB-6113WB NO.

970 051 158 0 970 051 159 0

WB-6112

970 051 157 0

WB NO.WB-6111

970 051 151 0

WB NO.

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTS

970 051 176 0

CLUTCH BOOSTER CLUTCH BOOSTER

CLUTCH BOOSTER CLUTCH BOOSTER

CLUTCH BOOSTER CLUTCH BOOSTER

CLUTCH BOOSTER CLUTCH BOOSTER

CLUTCH BOOSTER CLUTCH BOOSTER

DIA: 85mm

STROKE: 65mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 102mm

STROKE: 70mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 102mm

STROKE: 70mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 102mm

STROKE: 85mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 102mm

STROKE: 85mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 102mm

AIR: M16×1.5

HYD: M14×1.5

STROKE: 85mm

DIA: 102mm

STROKE: 70mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 102mm

STROKE: 85mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 102mm

STROKE: 85mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 85mm

STROKE: 65mm

AIR: M16×1.5

HYD: M14×1.5

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

www wabco cn          www.xmwabco.cn. . . . www wabco cn          www.xmwabco.cn. . . .

PORTS

TRUCK & TRAILER PARTSXiamen Wabco Industrial Co.,Ltd



WB-6302WB NO.

WB-6304

VG 3213

WB NO.

WB-6306WB NO.

WB-6308

VG 3361

WB NO.

WB-6303

VG 3208

WB NO.

WB-6305

VG 3229

WB NO.

WB-6307

VG 3265

WB NO.

WB-6301WB NO.

VG 3200 VG 3204

WB-6203

642-03505

WB NO.WB-6202

642-03502

WB NO.

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTS

VG 3261

CLUTCH BOOSTER CLUTCH BOOSTER

CLUTCH BOOSTER CLUTCH BOOSTER

CLUTCH BOOSTER CLUTCH BOOSTER

CLUTCH BOOSTER CLUTCH BOOSTER

CLUTCH BOOSTER CLUTCH BOOSTER

DIA: 90mm

STROKE: 35mm

AIR: M14×1.5

HYD: M12×1.5

DIA: 76 mm

STROKE: 84mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 100mm

STROKE: 84mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 100mm

STROKE: 84mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 75mm

STROKE: 84mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 105mm

STROKE:: 35mm

AIR: M14×1.5

HYD: M12×1.5

DIA: 76 mm

STROKE: 84mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 100mm

STROKE: 84mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 102mm

STROKE: 84mm

AIR: M22×1.5

HYD: M14×1.5

DIA: 102mm

STROKE: 76.8mm

AIR: M16×1.5

HYD: M14×1.5

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

PORTS

53 54

WB-6134WB NO.

WB-6136

970 051 438 0

WB NO.

WB-6138WB NO.

WB-6201

642-03080

WB NO.

WB-6135

 970 051 436 0

WB NO.

WB-6137

970 051 439 0

WB NO.

WB-6139

970 051 455 0

WB NO.

WB-6133WB NO.

970 051 432 0 970 051 435 0

WB-6132

970 051 4310

WB NO.WB-6131

970 051 424 0

WB NO.

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTS

970 051 444 0

CLUTCH BOOSTER CLUTCH BOOSTER

CLUTCH BOOSTER CLUTCH BOOSTER

CLUTCH BOOSTER CLUTCH BOOSTER

CLUTCH BOOSTER CLUTCH BOOSTER

CLUTCH BOOSTER CLUTCH BOOSTER

DIA: 102 mm

STROKE: 85mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 102mm

STROKE: 85mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 102mm

STROKE: 85mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 102mm

STROKE: 25.2mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 102mm

STROKE: 25.2mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 75mm

STROKE: 85mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 75mm

STROKE: 85mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 102mm

STROKE: 25.5mm

AIR: M22×1.5

HYD: M14×1.5

DIA: 75mm

STROKE: 85mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 70mm

STROKE: 35mm

AIR: M14×1.5

HYD: M12×1.5

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

PORTS

www wabco cn          www.xmwabco.cn. . . . www wabco cn          www.xmwabco.cn. . . .

TRUCK & TRAILER PARTSXiamen Wabco Industrial Co.,Ltd



WB-6412WB NO.

WB-6501WB NO.

WB-6503WB NO.

WB-6413

622785AM

WB NO.

WB-6502WB NO.

WB-6504

911 423 002 2

WB NO.

WB-6411WB NO.

 974 010 001 0 629300AM

WB-6410

625359AM

WB NO.WB-6409

629683AM

WB NO.

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTS

PORTS

911 423 002 3

CLUTCH BOOSTER CLUTCH BOOSTER

CLUTCH BOOSTER CLUTCH BOOSTER

CLUTCH BOOSTER CLUTCH BOOSTER

CLUTCH BOOSTER CLUTCH BOOSTER

CLUTCH BOOSTER

DIA: 100mm

STROKE: 27.5mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 102mm

STROKE: 85mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 100mm

STROKE: 27.5mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 100mm

STROKE: 70mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 80mm

STROKE: 80mm

AIR: M16×1.5

HYD: M14×1.5

911 423 001 8

DIA: 102mm

STROKE: 60mm

AIR: M16×1.5

HYD: M14×1.5

911 223 017 0

DIA: 102mm

STROKE: 50mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 90mm

STROKE: 67mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 75mm

STROKE: 75mm

AIR: M16×1.5

HYD: M14×1.5

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

PORTS

55 56

WB-6402WB NO.

WB-6404

 622190AM

WB NO.

WB-6406WB NO.

WB-6408

628275AM

WB NO.

WB-6403

626392AM

WB NO.

WB-6405

622199AM

WB NO.

WB-6407

628493AM

WB NO.

WB-6401WB NO.

622107AM 626639AM

WB-6310

VG 3289

WB NO.WB-6309

VG 3268

WB NO.

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTS

628276AM

CLUTCH BOOSTER CLUTCH BOOSTER

CLUTCH BOOSTER CLUTCH BOOSTER

CLUTCH BOOSTER CLUTCH BOOSTER

CLUTCH BOOSTER CLUTCH BOOSTER

CLUTCH BOOSTER CLUTCH BOOSTER

DIA: 100mm

STROKE: 84mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 100mm

STROKE: 50mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 80mm

STROKE: 50mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 100mm

STROKE: 70mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 100mm

STROKE: 85mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 100mm

STROKE: 84mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 95mm

STROKE: 70mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 100mm

STROKE: 70mm

AIR: M16×1.5

HYD: M14×1.5

DIA: 80mm

STROKE: 85mm

AIR: M16×1.5

HYD: M14×1.5 

DIA: 100mm

STROKE: 85mm

AIR: M16×1.5

HYD: M14×1.5

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

PORTS

www wabco cn          www.xmwabco.cn. . . . www wabco cn          www.xmwabco.cn. . . .

TRUCK & TRAILER PARTSXiamen Wabco Industrial Co.,Ltd



Gland Heads

V-101

V-101F

V-101E

V-101EF

V-101S

V-101SF

V-1011

V-1011F

V-1011E

V-1011EF

V-1011S

V-1011SF

V-9216

V-9217

V-9202

V-9203

V-9212

V-9212-6

V-9212-8

V-9211

V-9211-6

V-9211-8

V-11445

V-11444

V-11441

WB7100F

WB7100FF

WB7100FE

WB7100FE-F

WB7100FS

WB7100FS-F

WB7100DB

WB7100DB-F

WB7100DC

WB7100DC-F

WB7100DA

WB7100DA-F

WB7100SR

WB7100SB

WB7100JS

WB7100JE

WB7100UR

WB7100UR-F

WB7100UR-W

WB7100UB

WB7100UB-F

WB7100UB-W

WB7100WE

WB7100WS

WB7100WE-Q

DT NO. Ref No. 

B

B

C

C

A

A

E

E

F

F

D

D

G

H

I

J

K

K

K

L

L

L

M

N

O

Photo Contifurations Material Seal Filter

Cast Iron

Cast Iron

Cast Iron

Cast Iron

Cast Iron

Cast Iron

Aluminum

Aluminum

Aluminum

Aluminum

Aluminum

Aluminum

Aluminum

Aluminum

Aluminum

Aluminum

Aluminum

Aluminum

Aluminum

Aluminum

Aluminum

Aluminum

Aluminum

Aluminum

Aluminum

Black Poly Seal

Black Poly Seal

Red Poly Seal

Red Poly Seal

Blue Poly Seal

Blue Poly Seal

Balck Rubber Seal

Balck Rubber Seal

Balck Rubber Seal

Balck Rubber Seal

Balck Rubber Seal

Balck Rubber Seal

Balck Rubber Seal

Balck Rubber Seal

Balck Rubber Seal

Balck Rubber Seal

Balck Rubber Seal

Balck Rubber Seal

Balck Rubber Seal

Balck Rubber Seal

Balck Rubber Seal

Balck Rubber Seal

Balck Rubber Seal

Balck Rubber Seal

Balck Rubber Seal

Universal

Universal-with filter

Emergency

Emergency-with filter

Service

Service-with filter

Universal Standard

Universal Standard-with filter

Emergency Standard

Emergency Standard-with filter

Service Standard

Service Standard-with filter

38  - Emergency 

38  - Service

Service-w/flange mount

Emergency w/flange mount

Emergency w/bulkhead ftg.

Emergency-w/3/8"nylon tube ftg.

Emergency-w/1/2"nylon tube ftg.

Service w/bulkhead ftg.

Service-w/3/8"nylon tube ftg.

Service-w/1/2"nylon tube ftg.

Emergency

Service

Emergency-Quick Release

NO

YES

NO

YES

NO

YES

NO

YES

NO

YES

NO

YES

NO

NO

NO

NO

NO

NO

NO

NO

NO

NO

NO

NO

NO

A B C D E F G H 

I J K L M N O

57 68

WB-7104WB NO.

WB-7106

952 200 021 0

WB NO.

WB-7108WB NO.

WB-7105

952 200 222 0

WB NO.

WB-7107

952 200 221 0

WB NO.

WB-7103WB NO.

452 200 212 0  452 200 011 0

WB-7102

452 200 012 0

WB NO.WB-7101

452 200 211 0

WB NO.

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTS

952 200 022 0

GLAND  HEAD GLAND  HEAD

GLAND  HEAD GLAND  HEAD

GLAND  HEAD GLAND  HEAD

GLAND  HEAD GLAND  HEAD

Ports: M22x1.5  

Red With Check

                     

Ports: M22x1.5  

Yellow  Without Check

Ports: M22x1.5  

Yellow  With Check

Ports: M22x1.5  

Red  Without Check

Ports: M16x1.5  

Yellow  With Check

Ports: M16x1.5  

Red  Without Check

Ports: M16x1.5  

Red  With Check

Ports: M16x1.5  

Yellow  Without Check

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

REF NO.

PORTS

WB-7110WB NO.WB-7109WB NO.

952 201 001 0 952 201 002 0

PORTS

GLAND  HEAD GLAND  HEAD

Ports: M16x1.5 Female

            M24x1.5 Male  

Yellow  With Check

Ports: M16x1.5 Female

            M24x1.5 Male 

Red  With Check

PORTS

www wabco cn          www.xmwabco.cn. . . . www wabco cn          www.xmwabco.cn. . . .

TRUCK & TRAILER PARTSXiamen Wabco Industrial Co.,Ltd



59

Cable And Plug Assembly

Seven-Way ABS Coiled Cable W/Plugs Assemblies

 WB NO.:

WB7300A7-A

WB7300A7-B

WB7300A7-C

WB7300A7-D

WB7300A6-A

WB7300A6-B

WB7300A6-C

WB7300A6-D

WB7300A6-E

WB7300A6-F

WB7300A6-G

WB7300A6-H

WB7300A6-I

WB7300A6-J

Photo Remark

2-12 " Lead Both Zinc Plugs

2-12 " Lead Both Zinc Plugs

Straight Both Zinc Plugs

Straight Both Zinc Plugs

2-12 " Lead Both Zinc Plugs

2-12 " Lead Both Zinc Plugs

Straight Both Zinc Plugs

Straight Both Zinc Plugs

Straight Both Zinc Plugs

2-12 " Lead Both Zinc Plugs

2-12 " Lead Both Zinc Plugs

2-12 " Lead Both Zinc Plugs

Straight Both Zinc Plugs

2-12 " /1-48" Lead Both Zinc Plugs

Description

12'

15'

12'

15'

12'

15'

10'

12'

15'

20'

12'

15'

15'

15'

Working
Length

A

(GREEN)

1-8GA.
2-12GA.
3-12GA.
4-10GA.
5-12GA.
6-12GA.
7-10GA.

1
2

3
4

5

6

7

B

(BLACK)

B

(BLACK)

1-10GA.
2-12GA.
3-12GA.
4-12GA.
5-12GA.
6-12GA.
7-12GA.

1
2

3
4

5

6

7

1-12GA.
2-14GA.
3-14GA.
4-14GA.
5-14GA.
6-14GA.
7-14GA.

1
2

3
4

5

6

7

A B

WB-7301 WB-7302 WB-7303 WB-7304

60

C D E F

Air Coils Assembly

WB7200A

WB7200AB

WB7200AR

WB7200B

WB7200BB

WB7200BR

WB7200C

WB7200CB

WB7200CR

WB7200D

WB7200DB

WB7200DR

WB7200E

WB7200EB

WB7200ER

WB7200F

WB7200FB

WB7200FR

1-Red/1-Blue

1-Blue

1-Red

1-Red/1-Blue

1-Blue

1-Red

1-Red/1-Blue

1-Blue

1-Red

1-Red/1-Blue

1-Blue

1-Red

1-Red/1-Blue

1-Blue

1-Red

1-Red/1-Blue

1-Blue

1-Red

1/2"

1/2"

1/2"

1/2"

1/2"

1/2"

1/2"

1/2"

1/2"

1/2"

1/2"

1/2"

1/2"

1/2"

1/2"

1/2"

1/2"

1/2"

12'

12'

12'

15'

15'

15'

15'

15'

15'

15'

15'

15'

15'

15'

15'

15'

15'

15'

6"

6"

6"

12"

12"

12"

40"

40"

40"

12"

12"

12"

48"

48"

48"

72"

72"

72"

1/2"

1/2"

1/2"

1/2"

1/2"

1/2"

1/2"

1/2"

1/2"

3/8"

3/8"

3/8"

1/2"

1/2"

1/2"

1/2"

1/2"

1/2"

6"

6"

6"

12"

12"

12"

12"

12"

12"

12"

12"

12"

12"

12"

12"

12"

12"

12"

1/2"

1/2"

1/2"

1/2"

1/2"

1/2"

1/2"

1/2"

1/2"

1/2"

1/2"

1/2"

1/2"

1/2"

1/2"

1/2"

1/2"

1/2"

WB NO.
Standard 
Package

 Tube
 O.D. Working

Length 
Lead

Length 
Fitting 

Size 
Lead

Length 
Fitting

Size

Tractor-End Trailer-End

Max Pressure 150PSI

Male pipe-brass fittings

Plated spring guards

Coiled,1/2"O.D., reinforc d,nylon tubing

Excellent coil durability

Red-emergency/blue-service

SAE  Type B  tubing  has seamless   extruded nylon

core with fiber reinforced protective nylon cober

e

A B C D

www wabco cn          www.xmwabco.cn. . . . www wabco cn          www.xmwabco.cn. . . .

TRUCK & TRAILER PARTSXiamen Wabco Industrial Co.,Ltd



61 62

WB-8104WB NO.

WB-8106WB NO.

WB-8108WB NO.

WB-8110

VOLVO

WB NO.

WB-8105WB NO.

WB-8107WB NO.

WB-8109

IVECO

WB NO.

WB-8103WB NO.

WB-8102WB NO.WB-8101WB NO.

REF NO.

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTSPORTS

PORTS

HUB  COVER HUB  COVER

HUB  COVER HUB  COVER

115x3

 ThreadOutside

125x2

Outside Thread

125x3

Inside Thread

135x2

Outside Thread

135x3

Inside Thread

155x2

 ThreadOutside

155x3

Inside Thread

228x3

Outside Thread

REF NO.

REF NO. REF NO.

BPW 10T BPW 12T

BPW 12T BPW 14T

BPW 14T BPW 16T

BPW 16T BPW

REF NO. REF NO.

REF NO. REF NO.

REF NO. REF NO.

HUB  COVER HUB  COVER

HUB  COVER HUB  COVER

HUB  COVER HUB  COVER

WB7400C4-P

WB7400C4-S

WB7400C6-SA

WB7400C6-SB

WB7400C6-SC

WB7400C6-P

WB7400C7-S

WB7400C7-P

WB7400C7-PA

WB7400C7-PK

WB7400C8-P

WB7400C8-S

WB7400C9-P

WB7400C9-S

WB7400C10-P

WB7400C10-S

WB7400C11-C

WB7400C5S-P

WB7400C5S-S

WB7400C1S-P

WB7400C1S-S

WB7400C12-S

WB7400C13-S

WB7400C14-P

WB7400C14-S

WB NO. Ref No. 

A

B

C

C

C

D

E

F

F

G

H

I

J

K

L

M

N

O

P

Q

R

S

T

U

V

Photo Material

Zinc-Die Cast 

Zinc-Die Cast 

Zinc-Die Cast 

Zinc-Die Cast 

Zinc-Die Cast 

Zinc-Die Cast 

Zinc-Die Cast 

Zinc-Die Cast 

Plastic

PVC Black

Zinc-Die Cast 

Zinc-Die Cast 

Zinc-Die Cast 

Zinc-Die Cast 

Zinc-Die Cast 

Zinc-Die Cast 

Plastic

Plastic

Plastic

Aluminum-Die Cast 

Aluminum-Die Cast 

Plastic

Plastic

Zinc-Die Cast 

Zinc-Die Cast 

Contifurations

7-Way Plug Assembly With Spring

7-Pole Socket,Metallic 2 Hole

7-Way Socket, W/out Ciruit Breaker

7-Way Socket, W/15A Ciruit Breaker

7-Way Socket, W/20A Ciruit Breaker

7-Way Socket, W/30A Ciruit Breaker

2-Way Plug Assembly With Spring

2-Pole Socket

7-Way Plug Assembly

SOCKET BOOT

1-Way Plug Assembly With Spring

1-Pole Socket

4-Way Plug Assembly With Spring

4-Pole Socket

6-Way Plug Assembly With Spring

6-Pole Socket

7-Way Socket

7-Way Plug

7-Way Socket

7-Way Plug

7-Way Socket

7-Way Plug & Socket

7-Way Socket

7-Way Plug Assembly With Spring

7-Way Socket

Plugs And Sockets

V-BE23784

V-BE23703

V-421286

V-421168

V-421019

V-421021

V-670-21SG

V-670-22

V-16-730

V-11178

V-670-11SG

V-670-22

V-421175

V-421176

V-421122

V-421176

V-3012403

V-301205

V-3012401

V-452720

V-421001

V-421015

www wabco cn          www.xmwabco.cn www wabco cn          www.xmwabco.cn

PORTS

TRUCK & TRAILER PARTSXiamen Wabco Industrial Co.,Ltd



63 64

WB-8128WB NO.WB-8127WB NO.

WB-8129WB NO.

PORTSPORTS

PORTS

REF NO. REF NO.

REF NO.

SIRCO: 

PAI: 

SIZE: 6-1/4"x8 UN

75097

WB-8126WB NO.

WB-8124WB NO.

WB-8122WB NO.

REF NO.

PORTS

PORTS

PORTS

REF NO.

REF NO.

SIRCO: 9249

PAI: 9925

SIZE: 5-9/16"BC

SIRCO: 

PAI: 9923

SIZE: 5-1/2"BC

SIRCO: 

PAI: 

SIZE: 5-1/2"BC

343-4249

343-4095

    

343-4370

    

4075C

WB-8123WB NO.

WB-8125WB NO.

WB-8121WB NO.

PORTS

PORTS

REF NO.

REF NO.

REF NO.

SIRCO: 

PAI: 

SIZE: 5-1/2"BC

340-4249

340-4095

    

340-4370

    

SIRCO: 9249

PAI: 

SIZE: 5-9/16"BC

SIRCO: 

PAI: 

SIZE: 5-1/2"BC

PORTS

4075G

SIRCO: 

PAI: 

SIZE: 6-1/4"x8 UN

WB-8114WB NO.

WB-8116WB NO.

WB-8118WB NO.

WB-8120WB NO.

WB-8112WB NO.

PORTS

PORTS

PORTS

PORTS

HUB  COVER

REF NO.

REF NO.

343-4075

REF NO.

REF NO.

REF NO.

WB-8119WB NO.

REF NO.

PORTS

340-4975

SIRCO: 9013

PAI: 9918

SIZE: 6-1/4"

SIRCO: 9013

PAI: 9906

SIZE: 6-1/4"x8 UN

SIRCO: 9024

PAI: 9904

SIZE: 4-1/2"BC

343-4024

343-4009

SIRCO: 9009

PAI: 9961

SIZE: 5-1/2"BC

SIRCO: 9195P

PAI: 9907

SIZE: 6-3/4"BC

343-4195

WB-8113WB NO.

WB-8115WB NO.

WB-8117WB NO.

WB-8111WB NO.

PORTS

PORTS

PORTS

PORTS

HUB  COVER

REF NO.

REF NO.

REF NO.

REF NO.

SIRCO: 9013

PAI: 

SIZE: 6-1/4"x8 UN

340-4075

340-4024

SIRCO: 9024

PAI: 

SIZE: 4-1/2"BC

340-4009

SIRCO: 9009

PAI: 

SIZE: 5-1/2"BC

340-4195

SIRCO: 9195P

PAI: 

SIZE: 6-3/4"BC

SIRCO: 

PAI: 

SIZE: 6-3/4"BC

347-4195

www wabco cn          www.xmwabco.cn. . . . www wabco cn          www.xmwabco.cn. . . .

HUB  COVERHUB  COVER HUB  COVER

HUB  COVER HUB  COVER

HUB  COVER HUB  COVER

HUB  COVER HUB  COVER

HUB  COVER

HUB  COVER

HUB  COVER

HUB  COVER

HUB  COVER

HUB  COVER

HUB  COVER

HUB  COVER

HUB  COVER

PORTS

TRUCK & TRAILER PARTSXiamen Wabco Industrial Co.,Ltd


	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33
	页 34

